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Instructions
e Solve any 25 questions from Q1 to Q30
e Solve any 25 questions from Q31 to Q60

1 MS-DOS developed in

Max. Marks: 50

(D)1961

(D)None of above

(D)AII of the above

(D)os

(D)DVDs

(D)Cls

(A)1991 (B)1984 (C)1971

2 Maximum length of DOS command using any optional parameter is

(A)26 characters (B)87 Characters (C)127Characters

3 CHKDSK command is used to

(A)Analyze the hard disk error (B)Diagnose the hard disk error (C)Report the status of files on disk
4 What is the base of Octal Number?

(A)10 (B)16 (C)2

5 Which among the following disk is fixed disk?

(A)Hard Disks (B)Flash Disks (C)Blu-Ray Disks

6 Which command be used to clear the screen and display the operating system prompt on the first line of the display?
(A)Cd (B)Md (C)Rename

7 Whatis ROM ?

(A)Ready of Memory (B)Read only Memory (C)Readable only Memory

8 Whatis Computer ?

(D)None of the above

(A)computer is a programmable (B)Computer is electronic device (C)Accept data, process it and output (D)AIl of the Above

electronic device

9 Which command is used to copy files?

(A)Copy (B)Disk copy (C)Type

10 Which of the following is not an output device?

(A)Plotter (B)Printer (C)Scanner
11 The term ‘Computer’ is derived from..........

(A)Latin (B)German (C)French
12 Which command is used to display or get the current date only?

(A)Date (B)Time (C)Second
13 Which of the following memory is volatile

(A)RAM (B)ROM (C)EPROM
14 The memory which is programmed at the time it is manufactured is

(A)ROM (B)PROM (C)RAM

15 The binary representation of hexadecimal 'C3' is

(A)1111 (B)110011 (C)110001
16 What is the base of Decimal Number?

(A)2 (B)10 (C)8

17 What is the base of Hexadecimal Number?

(A)2 (B)10 (C)8

18 While working with MS-DOS which key is used to get the previous command used:
(A)F3 (B)F1 (C)F6

19 You organize files by storing them in

(A)Archives (B)Folders (C)Indexes
20 LAN stands for ...............

(A)Limited Area Network (B)Logical Area Network (C)Local Area Network
21 “MAN” stands for

(A)Maximum Area Network (B)Minimum Area Network (C)Main Area Network
22 Which of the following is not a storage medium?

(A)Hard disk (B)Flash drive (C)bvD

23 Which of the following is not a binary number?

(A)001 (B)101 (C)202

24 All of the following are examples of storage devices EXCEPT :

(A)Hard Disk Drives (B)Printers (C)Floppy Disk Drives
25 Which one of the following is NOT a computer language

(A)MS-Excel (B)BASIC (C)coBOL

26 RAM is an example of
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(D)AII of the above

(D)Monitor

(D)Arabic

(D)AII of the above

(D)PROM

(D)EPROM

(D)11000011

(D)16

(D)16

(D)F9

(D)Lists

(D)Large Area Network

(D)Metropolitan Area Network

(D)Scanner

(D)110

(D)CD Drives

(D)C++
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(A)Secondary Memory (B)Primary Memory

27 On-line real time systems become popular in ........... generatio
(A)First Generation
28 You use a(n) ....., such as a keyboard or mouse, to input information
(A)Output Device

29 DEL command is used to
(A)Delete files

30 MICR stands for ....

(A)Magnetic Ink Character Reader

(B)Second Generation

(B)Input Device

(B)Delete directory

(B)Magnetic Ink Code Reader
31 Computers, combine both measuring and counting, are called ........
(A)Analog (B)Digital

32 In world today, most of the computers are .........

(A)Digital (B)Hybrid

33 Physical structure of computer is called ............

(A)Software (B)Hardware

34 In which type of computer, data are represented as discrete signals.
(A)Analog computer (B)Digital computer

35 Which of the following is available in the form of a PC now?

(A)Mainframe (B)Microcomputer
36 PARAM is an example of:

(A)Super computer (B)PC

37 Which of the following is/ are operating system
(A)Windows (B)Unix

38 A offline device is
(A)A device which is not connected to (B)A device which is connected to

CPU CPU
39 Which of the following is the fastest
(A)CPU (B)Magnetic Tapes and Disk

40 CPU stands for ...........
(A)Computer Performing Unit (B)Computer Processing Unit

41 The extension of a text file (i.e Notepad file) is :

(A).text (B).. tet

42 The Process of erasing a disk is called :
(A)Wiping (B)Formatting
43 8 A window can have states

(A1 (B)2

44 9 Which one is not an Image file ?

(A).bmp (B)-png

45 10 How many scroll bars does a window have in general ?
(A1 (B)2
46 11 The shortcuts that appears on the Desktop is called :

(A)Image (B)My Document

47 Notepad is used for :

(A)Text (B)Image

48 Which combination of keys allows you to perform a warm boot?
(A)CtrI+ESC (B)Ctrl+Alt+DEL

49 To find out how much memory is available, you could type
(A)EMM (B)MEM

(C)Main Memory

(C)Third Generation

(C)Storage Device

(C)Delete labels

(C)Magnetic Ink Cases Reader

(C)Hybrid

(C)Analog

(C)Human ware

(C)both

(C)Minicomputer

(C)Laptop

(C)OS/2

(C)A device which is in breakdown
stage

(C)Video Terminal

(C)Central Processing Unit

(C)..txt

(C)Cleaning

(C)lcon

(C)Both Text and Image

(C)Ctrl+Shift+DEL

(C)CHKDSK

50 Which command will you use to transfer a specific file from one disk to another?

(A)DISKCOPY (B)COPY
51 The primary purpose of an operating system is

(A)To make the most efficient use of
the computer hardware

(B)To allow people to use the
computer

52 Multi programming systems

(A)are easier to develop than single
programming systems

(B)execute each job faster

53 Updating a database means
(A)Revising a file structure
54 RAM chips

(B)Reorganizing the database

(C)RENAME

(C)To keep system programmers
employed

(D)Both (1) and (2)

(D)Fourth Generation

(D)Processing Device

(D)Delete contents of file

(D)None of the above

(D)AIl of these

(D)Complex

(D)AII of these

(D)Hybrid Computer

(D)Both (B) & (C)

(D)PDA

(D)AIl of these

(D)None of these

(D)Sensors, Mechanical Controllers

(D)AII of these

(D). tt

(D)Defragmenting

(D)4

(D). .irg

(D)4

(D)My Computer

(D)None of these

(D)None of the Above

(D)MEMMAKER

(D)FORMAT

(D)To make computers fast

(C)execute more jobs in the same time(D)use only one large mainframe

period

(C)Modifying or adding records
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computer

(D)AII of the above
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(A)allow the computer to store data  (B)store data indefinitely unless you

electronically delete it
55 Format command is used to

(A)Prepare a blank disk (B)Create a new blank disk from a

used one

56 The following command set is correct according to their function

(A)RD can MD (B)DEL and ERASE

57 Which command is used to change the file name?

(A)Ren (B)Rename

58 The capacity of 3.5 inch floppy disk is

(A)1.40 MB (B)1.44 GB

59BCD is

(A)Binary Coded Decimal (B)Bit Coded Decimal

60 ASCII stands for

(A)American Stable Code for (B)American Standard Case for
International Interchange Institutional Interchange

(C)are secondary memory

(C)Both of above

(C)CD and RD

(C)Both of above

(C)1.40 GB

(C)Binary Coded Digit

(C)American Standard Code for
Information Interchange
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(D)all of the above

(D)None of above

(D)COPY and RENAME

(D)None of above

(D)1.44 MB

(D)Bit Coded Digit

(D)American Standard Code for
Interchange Information



